A 2 o & A

SRR 2022-12-30 10:55:26

SN HATIED
H2: E| g2
Crel: MEHIIEH2)

Al A

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SATHA 10,208,179 10,479,332 A271,153
= 1,916,340
== 84,785
Al 8,207,054
Hol=2kel 10,144,519 10,479,332 A334,813
= 1,916,340
< 84,785
Al 8,143,3%
MEHH DS X 7,671,522 8,218,875 AB47,353
= 758,000
== 84,785
Al 6,828,737
MeDISEN2E 382,212 27,212 111,000
201 2= 328,276 218,276 110,000
01 AtR2t2lt] 36,420 26,420 10,000
O3] 30,900
OF XS MeoI=0] 28 =8
1,875,002 1,875
ONMBRA X2 S AA 442
1,650,000 1,650
oMl SESFI| Qe JIH
223,600 2574 5,590
O&Z =228 I ¥ U2 M=
1,210,000 1,210
OHEHIIZ X2lE 24 E2= MH
5,000,000& 5,000
oXMgD| SHSI| Mg 82 &4+ M
56,0002 *300HK 1,680
oMl SHSI| AT AEH ME
1,000 *9300H 930
OJ1dd A= gD| 2eltlE 82 S
1,910,000 1,910
OdEHIIE 2 82 sS4 WX
5,000,000& 5,000
o4l nASE & S4=SF WIS 87
ZZ B EXE HE
10,0003 #4704 2 470
OSAEF HVI= M 88 5,585
-0t 55,8703 *400HK 2,235
-2t = 1,430,000 1,430
-8e 960,000 960
-AEIAH 960,000 960
O=3+4 560
OS4EF HYI2 duEl /I3 ¢
70,0002 +8Y 560
Ol 4,960




2A:

AT

33 Hols22
Ctel: dEHDI=Xcl EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=EldE=s =4 930,000 930
oMe)| SEM g 930,000 930
OFAXS KeoI=07] 28 =8
190,000 190
OHATAHCY A2ET
930,000 930
OSA=2R HJI=+H g2FA
1,460,000 1,460
OSAISFE HDI2 OIS HRFA
520,000& 520
02 S52g4l 291,856 191,856 100,000
OSZS22ZAMA 9,690,000 9,690
OAEEHIS X 1,806,000& 1,806
Ot S| 280,360,000 280,360
202 04| 4,236 3,236 1,000
01 2K 4,236 3,236 1,000
OXeJ| SN gRFX 3,236,000& 3,236
ORHSI| &5 =4 1,000,000& 1,000
206 M=l 49,700 49,700
01 MHZH| 49,700 49,700
OSA=F W= SVISEN 9,700
SHES (LR, L0 S)
1,000,000 1,000
OHRES MA(ZIHE) 5,700
-5elH 402 *30,000H 1,200
-102I& 5030, 000K 1,500
602/ & 502 *30,000H 1,500
-1202I & 502 *30,000H 1,500
OCEMIZE SA=E HEEI| 7Y
60,0002 +50H 3,000
oNgs=cls=HU S0t
40,000,000& 40,000
HE MY D= CIALS 1,897,441 2,936,040 /1,038,599
101 21A4H| 37,026 60,425 N23,399
04 JIZtN2 2N S 2+ 37,026 60,425 A23,39
O=ESD| (CTV 22| 2 37,026,000& 37,026
201 2= 370,232 264,232 106,000
01 At2t2lt] 34,082 34,082 0
o2et=ZH| 21,742
OFANMY HIEFA 6,372,000& 6,372
OFAXZ ZAE & M =2
1,300,000& 1,300
OSYSIILX 222 M
5,100,000 5,100




SN HATRID
33 Hol=2c
elr MEHIISHel (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O4zry Bells M| 22lE S
e 470,000& 470
OmA=H| ?I& Xl 2,000 *500H 1,000
OUEHYI= HE AEIH MH
350& %10,0000H 3,500
o8H0Is FIEs B}
2,000,0002 2,000
OBF0IEA 22H K20l B
2,000,000 2,000
O=&H| 11,240
O&A ge=d 2,790,000 2,790
OgXIHIIE =Xl 2=
1,300,000 1,300
oMl SYSD| ORtEHS HRFA
650,000& 650
o2dx £ 22 I
6,500,000 6,500
O2x= 1,100
OZXIHIIE +=HEHl St
550,000 22 1,100
02 s3=gHl 326,150 226,150 100,000
OSZS22ZHA 30,070,000& 30,070
O =] 5,010,000& 5,010
OAEEEIS X 9,000,000& 9,000
OXE eI 282,070,000& 282,070
03 A= 10,000 4,000 6,000
O30/ M=z 10,000,000& 10,000
202 04| 4,690 3,690 1,000
01 =LHO LI 4,690 3,690 1,000
ouELIIHR YPET
3,690,000 3,690
Ogxl, ggHll= & &0l
1,000,000& 1,000
206 M=l 226,990 257,190 /30,200
01 M=8l 226,990 257,190 230,200
OXgD] RASE MA(EHHE+RYSS) 124,100
O5elH 263 %50,0000H 1,300
o102l 38&*50,0000H 1,900
020cIH 632300, 0000H 18,900
O202IE (MBS ) 703 %400,0000H 28,000
O502IH 138& %500, 0000HK 69,000
ORZYRl HA01= HIH
10:& *500, 0000 5,000
OOHE MO0 MZHEHE) 11,600
0202 350% *20,0000H 7,000
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2A:

AT

33 Hols22
elr MEHIISHel (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0502 & 4602 *10,0000H 4,600
OXIIRASE NH(SS3) 21,550
0202 632 +50,0000H 3,180
0502 & 1383 %100, 0000HK 13,800
OUHEE 502IE 4602 *10,0000H 4,600
OZ0IEd ¥ &2 Al 85 21,240
OSctAEY 6,000 x70 & *20K 840
oY 600 +70LE x20Z el * 120 2 10,080
OBUNBE Z2i4I(52)
180,000 x2CH* 1290 2 4,320
oEUXHE Bei4l(&52)
250,000 *2CH* 12042 6,000
O2&altt TEME 25 78
1,500,000 1900 2 28,500
ORSSI| g alA 7Y
5,000,000 494 2 20,000
207 ARl 23,000 100,000 AT77,000
01 A1E4H| 23,000 100,000 AT7,000
OZHAl H2Xt N =2tBAHE +8 ES
23,000,000 * 14 23,000
301 Eet2 NS 33,000 33,000
14 JIEH2 A2 33,000 33,000
0SS o A2 AT TAS
3,000,000& 3,000
OHs8)| =124 30,000,000& 30,000
307 elztol & 750,000 1,624,000 A874,000
05 212t =S 750,000 1,624,000 874,000
OZg Ml Xeld Bt=or W= Xl
250,000 *2,0002 500,000
OsE &2 S Mg D] Xl
250,000 *600& 150,000
OMESXIE =HMAD| Xl
250,000 »400E 100,000
308 AXIMSO0IA 222,503 222,503
07 MXISHHARE = 156,008 156,008
OdZHI|l= X2 FE= 156,008
oAMD| REES 102,300,000 102,300
OlHgXedl RE= 53,708,000 53,708
2IIERg=s 66,495 66,495 0
OAIZEIIIE M2 283(22)
66,495,000& 66,495
405 KHoHFSH| 230,000 371,000 141,000
01 ML ESFSHI 230,000 371,000 141,000
O] FHEI| ZAl 0ISA CCTV €X
4,000,000 »20CH 80,000
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2A:

AT

=2 Hol22el
elr MEHIISHel (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
| osxe 23xE wA 150,000,008 150,000
WEE Arg) 363,409 302,377 28,968
101 ©1218)| 100,201 %.800 3,401
VBIEIEEINETRS 100,201 %.800 3,401
OUEE &HZ oIRAY 100,201
O&Al 2% oIt
9,620 +BAI 272 * 117} & x4 91,429
OMAl 9% 2EE 8,772,0008! 8,772
201 Yereely| 83,008 8.977 31
01 Al 22lb| 20,162 20,131 31
DEERE=E 18, 162
OMEE HEN 2% A2FX
2,000,0002 2,000
OMEE HET AHIBA 442
2,235,0002! 2,235
OMEE HBX M@ (HYE
417, 2002128 5,007
ONMEE HEH MASA =T 448
530,002 +23] 1,060
OMEE HBT +HAIL FIEAN &
+2 90,0002 x23| 1,860
OMEE HEE Luormpe| (JUEY
4,000,002 4,000
OHZL FIIAA 442
2,000,002 2,000
o2l 2,000
OMEE HEX A2FX
2,000,002 2,000
2 222 62,846 62.846 0
O2Z23LHA 3,260, 0002 3,260
CEEE 9,210,000 9,210
OAIEZHIRT 12,530,000 12,530
Oz 5,846,002 5,846
206 T2 H| 27,200 24,600 2,600
01 MZH| 27,200 24,600 2,600
ONEE H28 29 2 2 15,600
OMEE MEE Fuay A=otg
5,000,002 5,000
oR2lEg =9 2,200,0008! 2,200
OHEHE =% 1,200,000 1,200
oz 1,200,000 1,200
o023 1,000,000 1,000
ORALIIH X AETH RAR
50,0002 +40S 2,000




2A:

AT

33 Hols22
elr MEHIISHel (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAEIIA & AMESH FelA
50,0002%10S 500
OB 2 uet 500,000 500
OJIHRZE & 24 & 78
2,000,0002 2,000
ONEE HEE AI|S20 SE0/0 72
2,800,000 *23 5,600
0AIIC20 Big 7Y
300,000 *2H 600
OAJIE2H & Y 200,000 4 800
OHEE JEAY QI8 THEH|(&2,0tA3T)
4,600,000 4,600
307 elztol & 88,000 88,000
05 21t S 88,000 88,000
ouot+= S WeHJI= Xel
220,0003 #4002 88,000
401 Al HIZ R 0HbI 65,000 100,000 /35,000
01 AlZ8| 65,000 100,000 /35,000
OLtI| 2 wH 20,000,000& 171 20,000
O ASF WA 15,000,000& *171 15,000
OAEZE E3At 10,000,000 10,000
OMHEE JEF dEetel (A0 S)2=
20,000,000 20,000
AsHHIE A4S X (EX) 170,000 170,000 0
= 34,000
= 17,000
Al 119,000
301 EetE2 NS 170,000 170,000 0
= 34,000
= 17,000
Al 119,000
4Bt 2 a=S 170,000 170,000 0
OSsitle =H243 XN&
170,000,000 170,000
= 34,000
= 17,000
Al 119,000
StAGHR MY DI EBIAIS (2 X) 132,857 132,857 0
= 93,000
= 13,286
Al 26,571
101 @124H| 110,857 110,857 0
= 77,600
[ 11,086
Al 22,171

»
|




SN HATRID
33 Hols22
elr MEHIISHel (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
M ORIMZZ2NSE S 110,857 110,857 0
Ot 22015 el At
110,857,000& 110,857
= 77,600
< 11,086
Al 22,171
201 Ler2&| 3,000 3,000 0
= 2,100
< 300
Al 600
01 At22t2lt] 3,000 3,000 0
O +=ZH| 3,000
oot &LII+=H Xl A
3,000,000& 3,000
= 2,100
S 300
Al 600
202 04t 2,000 2,000 0
= 1,400
S 200
Al 400
01 2LHoIH 2,000 2,000 0
Ot 22014 H el At
2,000,000 2,000
= 1,400
< 200
Al 400
307 elztol & 17,000 17,000 0
= 11,900
< 1,700
Al 3,400
05 2IMRIE =3 17,000 17,000 0
Ot 22015 H el At
17,000,000 17,000
= 11,900
[ 1,700
Al 3,400
I=HHY ST &5 XM (EX) 30,000 30,000 0
= 9,000
Al 21,000
401 AIEHIX R0 30,000 30,000 0
= 9,000
Al 21,000
01 AlZ2H| 30,000 30,000 0




SN HATRID
33 Hols22
elr MEHIISHel (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OdsHbld SS8otd &5 K& MY
5,000,000 67K 2 30,000
= 9,000
Al 21,000
MEHDIE HEHSAE X MB(EX) 81,000 75,000 6,000
== 24,300
Al 56,700
401 AIEHIZ SR 0HYI 81,000 75,000 6,000
[ 24,300
Al 56,700
01 Al&HI 81,000 75,000 6,000
OUEHDIIZ HE BHEAIE X X2
81,000,000& 81,000
= 24,300
Al 56,700
W2 20t HIIZ2 HMel XNF(EX) 64,000 224,000 160,000
s 19,200
Al 44,800
307 212+01& 64,000 224,000 160,000
[ 19,200
Al 44,800
05 2IZtAE = 64,000 224,000 160,000
OSSHAM =H & HExXc XA
64,000,000 64,000
= 19,200
Al 44,800
sAPIYH SHBAH| XML (EX) 24,181 31,632 NT,451
=S 7,254
Al 16,927
301 LEtE NS 24,181 31,632 AT,451
< 7,254
Al 16,927
14 JIEt2 8= 24,181 31,632 AT,451
Ols=SJI5s +=H0 2l XA
24,181,000 24,181
= 7,2%4
Al 16,927
Wee8s =8 ANMES ¥ =3 NJ(EX 12,484 12,442 42
=S 3,745
Al 8,739
201 fet=3| 12,484 12,442 42
== 3,745
Al 8,739
01 AtR2t2lt] 12,484 12,442 42




2A:

AT

33 Hols22
Rl MEHDIS XL (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMNEES =1 we=3 N
12,000,000 12,000
= 3,600
Al 8,400
ONEES 80 HNES A
484,000& 484
S 145
Al 339
HEES SENMH XYAMNS(EX) 168,000 109,140 58,860
= 65,000
Al 103,000
101 @12A4H| 158,000 101,140 56,860
= 60,000
Al 98,000
04 JIZtNZ22 XS 2+ 158,000 101,140 56,860
oNgss &M N3
158,000,000 158,000
= 60,000
Al 98,000
201 er23| 10,000 0 10,000
= 5,000
Al 5,000
01 At2teltl 10,000 0 10,000
ONEES ST HPEZS 28
10,000,000 10,000
= 5,000
Al 5,000
MBS =dIE XA 190,000 0 190,000
201 2= 15,000 15,000
01 AtR2t2lt] 15,000 15,000
Ot~ 15,000
ORHZRE ¢2 1= 10,000,000& 10,000
o&ddEI ME =& 5,000,000& 5,000
401 Al HIZ S OHbI 175,000 175,000
01 A28l 175,000 175,000
O=E 0l& Xcldl 4,000,000& 4021 160,000
O=2E &2 ZAt Y
15,000,000& * 14| 15,000
20lstd 22l 170,880 170,880 0
201 Ler23| 170,880 170,880
01 At2teltl 170,880 170,880
O eS| 42,000
Ooedllstd =52 £
5,000 «100H*70S 1204 42,000
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2A:

AT

M Ho|22el
elr MEHIISHel (SH9 H2)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O1l=t| 96,400
OBAESRHIIZ =HA Y5 2
50,0002 x 1201 & 23| 1,200
OBADIBHA el
150,000 70 23| 21,000
O&Z0Istd st
60,0003 ¥70H 23 8,400
O&Z0Iskd oF2t 7))
40,0003 *70E*23| 5,600
od0lsta &et=
400,000 *70H * 13l 28,000
Otz 0Istd Zetst
200,000 x70H *13] 14,000
o&Z0Istd =2 70,0003 *70H *13] 4,900
Otd0lztd L3827
50,0002 x70Y 13| 3,500
O&Z0Istd 222 B3l 7
70,0003 70 *12]| x5 9,800
O=2t| 32,480
Ood0lztd E2A =&l
8,000 x70H «58 32,480
SAM2HeE 29 1,032,428 1,831,028 AT798,600
201 Ler23H| 337,568 303,268 34,300
01 AtR2elt] 64,093 29,793 34,300
O =2H| 57,670
CENER EINER-EESS
800,000& 800
OSAE H2INE 20128 +42
170,000& = 1201 & 2,040
OSA2 MalAlY Agordate|
220,000& =120 & 2,640
O3AI2 MalAlE &D|etd2te|
12,114,000 12,114
O3AE MH2lAME AZE PU(SFEX, A
e 2 E) 300,000& 300
O2AE MlAIE HEIIEE =2
800,000& *13] 800
O3AIZ2 XMalAIE HZ2U EIIHA
935,000& 935
O84Al2 MelAd EIIBAL =2
2,370,000 *12] 2,370
OSAIZ HeIAE FIIETE 248
29,396,000 12l 29,3%
O3A2 EHIdz L & FETA ==
= 570,000 %13 570
OSAE H2INE RABASH +42
600,000 *23| 1,200
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SN BAKRD
mal: oISl

elr MEHIISHel (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OS4lE XMAME /858t =55
2,500,000& 2,500
OS4aE XMlAE HIIEH FIIZA
1,200,000 1,200
OSAl2 HMelAlE S0IAE HEZA}
805,000 12 805
Ol =] 780
OS4E XMAME 22N HYs & Mg
260,000 3 780
OERT 1,728
0SAE MEEYS £X
1,728,000& 1,728
OZx= 3,915
OS4E XMlAME =)l eiEz
142,840 1204 & 1,715
OSAlExelAld Kot & adg =4
N PN 2,200,000& %12 2,200
2 52434l 273,475 273,475 0
OZ2Z22ZLHAl 249,735
Oa=kl=s 14,295,000& 14,295
oXIIR= 235,440,000 235,440
O =] 9,340,000 9,340
OAlEEHIs X 14,400,000 14,400
202 04l 2,000 0 2,000
01 =LHAHI 2,000 0 2,000
OSASHD| NEEE dRFA
2,000,000 2,000
206 M=l 91,860 101,760 /9,900
01 M= HI 91,860 101,760 29,900
SAalE XMIAME 29 AS9E FY
10,0003 *202| E1*300H 6.000
OSA=F HJI= =88 2 7Y
75,0003 *3E=*2562 57,600
OS4 2 N2ANE 2E=EE 72 18,060
O&IIN =& 100,000 x105+32] 3,000
oz g 60026 *25* 1200 2 1,080
ogdls ¢
6,000 x6Z*100H* 12043 4,320
obtA3 Y
1,200 +6E *25* 1201 2 2,160
CEZHEE 7Y 20,000 x20JH*52] 2,000
OJHESE 2¢ & Fela 7Y
150,000& *30S 4,500
ORIUES FLMA S) 1,000,000& 1,000
O3SAE HMelAld U2 €5A 7Y
50,0002 x17kg* 1204 10,200
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2A:

AT

33 Hols22
elr MEHIISHel (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
207 ARl 180,000 210,000 230,000
03 Alg 32t 180,000 210,000 30,000
OS4=2 MelANE 3ERcls 4E37Y
180,000,000 180,000
307 @120l & 269,000 348,000 A79,000
05 212+ =S 269,000 348,000 79,000
OSAER HDII2 RIE(RS4E)
50,000,000& 50,000
0SA22 HJI2 ASHEYL, SH)
55,000,000 55,000
OS4=7 HJl= =il Xl
140,000,000 140,000
OSZE A= BLEIt HoI2)
24,000,000& 24,000
401 Al HIZL S 0HYI 100,000 835,000 A735,000
01 Al&HI 99,100 830,000 /730,900
OSAEH2E “=AIE HLSA
100,000, 0002 *99. 1% 99,100
03 AIZ2THYI 900 5,000 A4,100
OSASHUE “=AIE HLSA
100,000,000 0. %% 900
405 AtatE = 52,000 33,000 19,000
01 Tt =S F=HI 52,000 33,000 19,000
OE/Hl 0158 &E%A 2Y
12,000,000 +2CH 24,000
OSASHAT FII24D| 7Y
5,000,000 *1CH 5,000
OSASHAE U] Z2A8 2H0IL 2
2 10,000,000& 10,000
OSAEFHIE U 248 2AHI0IH Ot
dHE 7Y 5,000,000& 5,000
OE/Y 01582 1Y 8,000,000& 8,000
& (A2E) 29 916,913 908,587 8,326
101 @12A4H| 37,026 0 37,026
04 JIZtN22 XS 2+ 37,026 0 37,026
ORFA TO YR LA
37,026,000& 37,026
201 2= 18,644 16,587 2,067
01 AtR2t2lt] 12,444 10,387 2,057
O =2 7,444
OAESE HHEAE A==
7,444,000& 7,444
Ogx= 5,000
ANESE IHEAE &+l St
5,000,000 5,000
2 352484l 6,200 6,200 0
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SN BAKRD
mal: oISl

elr MEHIISHel (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OZZ22=LHAl 2,500,000& 2,500
OAI2EHI= Xl 3,700,000 12 3,700
207 ARl 22,093 67,000 AN44,907
01 A S| 22,093 67,000 AN44,907
ONBZ2HE AS22S
22,093,000& 22,093
301 LELE NS 29,150 0 29,150
14 JIEt2 =3 29,180 0 29,180
OFZR ZAHIIS AL TUXAEO)
H A& A8 26,300,000 26,300
ORZAZAHIISHTAIL FOX AR
H =2SAds 2,850,000& 2,850
308 AtXIEHMSOIE 800,000 800,000
07 XA EE2 800,000 800,000
OZAMD| BT L A2AF 2YRLS
800,000,000 800,000
401 Al HIZL 048I 10,000 25,000 A15,000
01 Al&HI 10,000 25,000 /15,000
OS¢ AIBEE HEE +232|(RIH)
10,000,000 10,000
METR Sl=HIE AXIAE(EX) 1,856,667 278,000 1,578,667
= 557,000
Al 1,299,667
401 AIEHIZ SR OHYI 1,856,667 278,000 1,578,667
= 557,000
Al 1,299,667
01 Al&HI 1,849,983 278,000 1,571,983
OMETIRSISHE &5 A
1,849,983,000& 1,849,983
= 554,99
Al 1,294,988
03 Al S THYI 6,684 0 6,684
O A +HE X A
6,684,000 6,684
= 2,005
Al 4,679
Mg 2g2¢cl 157,850 0 157,850
201 er23| 84,000 0 84,000
01 At2teltl 24,000 0 24,000
O+ 3,000
OMEEAE T AFESE 7Y
2,000,000 2,000
olEe 2= M 1,000
-=cliiE 22 &2 A
500,000 500
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2A:

AT

33 Hols22
Ctel: dEHDI=Xcl EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-ZClthE U2 M 500,000 500
O=¢g| 2,000
olgEac g4 =
2,000,000& 2,000
olgs=3e ¢ 22 19,000,000 19,000
03 Ar=EHI 60,000 60,000
Ot z=g A2l 820t &4
15,000,000 15,000
OX0bts MHaz=8 Mgud =29
15,000,000 15,000
OXIFE &els N2 HEE =X
30,000,000 30,000
202 04l 2,000 2,000
01 =LHN LI 2,000 2,000
olgsael gy 2,000,000& 2,000
206 MH=H| 22,850 22,850
01 M=4l 22,850 22,850
Os2EE =H03Y M
2,000 *4,8000HK 9,600
OO0 A ==D10tCH A=
1,000 +8,0000HK 8,000
OFZHEY 2oltiE =5 M
3502 15,0000H 5,250
301 LEN= 10,000 10,000
14 0Bt 2a3 10,000 10,000
ONEE 270 & 29 A2
1,000,000 * 1000 2 10,000
307 elztol & 20,000 20,000
05 2ItRIE =2 20,000 20,000
Ol AL 4,000,000 5= 20,000
405 AtatE = 19,000 19,000
01 ML ESFSHI 19,000 19,000
OH=s =Hg 28 19,000,000& 19,000
Lol 3l=J| EX At 21,200 21,200
201 fer= 3| 20,200 20,200
01 At 2|l 2,200 2,200
O=R0215|D] ot & E22 HA 2,200
o8l 60,0003 * 1074 2:%22] 1,200
Otz 1,000,000& 1,000
02 S3=4gl 18,000 18,000
ONEES R23s)| 2EH|
300,000 5CH* 1200 & 18,000
202 04| 1,000 1,000
01 =LHOLI 1,000 1,000
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2A:

E M

X=]

AT D
Ho|2 22
L MEHDIZHL

SA - ZE - B2(30) - HRAS of v e HIDE2
|| o©=9s12)) g2z 1,000,000 1,000
ASEHDIZ 22 2,472,997 2,260,457 212,540
= 1,158,340
Al 1,314,657
HOISAIE &2tel 97,655 107,381 N9, 726
201 er= 3| 22,185 21,981 204
01 AtR2tc|HI 16,865 16,865 0
O et==H] 6,365
OHYIZ MY 2| HR=X
1,530,000 1,530
OHDIZ QEE SAt 2,000,000& 2,000
OHPVI=S HHES A AFZAL
30,5002 x102] 305
OHYIZ 22IEE MRES 7Y
1,530,000 1,530
OoF ZLIEHE AAE HHAM
1,000,000 1,000
Ol =] 900
OHDIZ HMelgH === (46tel) 7Y
300,000 34 900
O=t| 1,570
OHPIE FE FIlHs g4
1,570,000& 1,570
Ox= 8,030
OHDIZ OHE =l HH| Xt
1,530,000 1,530
OSBAMZE £A 42 e YRt
6,500,000& 6,500
02 S3=gHl 5,320 5,116 204
OAI2 &= Xd] 3,320
O2F ZLIHE AMAH SX2el
110,000 * 1204 & 1,320
O%F Z2LIHY dIA, B2 wXl
2,000,000& 2,000
OXSE (A H2R )
2,000,000 2,000
202 04| 900 900
01 =LHOLI 900 900
OMNZE HDIS2e| g2Fd
900,000 900
206 M=l 4,570 4,500 70
01 MZH| 4,570 4,500 70
OMSE HIIE =&23AL M &
5,0002 *2007K 1,000
OAZHDIZ2 NES ¥
10,0002 *100H 1,000
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SN HATRID
33 Hol=2c
ol AR D 222 (el o)
SA - ZE - B2A(30) - HRA - B of v e HIDE2
OHDIZ AT AFHEZFW g
2,570,000& 2,570
307 gl2to| & 70,000 80,000 10,000
05 212t =S 70,000 80,000 10,000
O HIISHRI(ALH « NHIIS S)
70,000,000 70,000
aF=1T:| DAE==gt f=) 58,662 63,660 A4,998
201 2= 7,462 7,460 2
01 At22telt] 7,462 7,460 2
2et-EH| 4,660
O2& HII2 M2lY 5t L NEHY o
e 1,660,000 1,660
O=SEA & HEEA 2L HA
1,000,000 #32] 3,000
o3zl 1,152
OE HIISBY 0I5} Y LU XX
8,0003 x4 +3&« 12042 1,152
Ogx= 1,650
OJd&d HJIZ SHYHE =&l St
1,650,000& 1,650
202 04l 1,200 1,200
01 2LHoIH 1,200 1,200
OHE Hol=2el 2=
1,200,000& 1,200
307 el2to| & 50,000 55,000 /5,000
05 212t =S 50,000 55,000 /5,000
OZLX HIOISM2(ALHIIE S)
50,000&x1,000& 50,000
S20IE HelXJ(EX) 2,316,680 1,840,936 475,744
= 1,158,340
Al 1,158,340
402 QI2F X201 & 2,316,680 1,840,936 475,744
= 1,158,340
Al 1,158,340
03 2IZ+RAETAIS I 2,316,680 1,840,936 475,744
O=dI0OIE HMelX& 2,316,680,000& 2,316,680
= 1,158,340
Al 1,158,340
YA HHI(FAXR D) 63,660 0 63,660
J23HI(FAXR D 63,660 0 63,660
Jl2ZH(FAXRD) 63,660 0 63,660
202 04| 54,000 0 54,000
01 =LHA LI 54,000 0 54,000
OSEEZ 0| 100,0002 «458 1201 & 54,000
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of
i’
oF
uJ

-

KIO

Hlw

9,660
9,660

MEE
Ofl &k2h

Ofl &F2H

9,660
9,660
9,660

- ESS

- SRA(E) - HIRAY

S - B

Kl
KF
aoF
ol

0K

805,000 123

0H
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